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I.  Translate the following terms into English (15%):
D
2)
3)
4)
5)
6)
7)
8)
9)

10)

I1. Translate the following terms into Chinese(10%0):
1) CAP

2) FTAA

3) OECD

4) marketing savvy

5) capital spending binge
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6) venture capital

7) euro-denominated capital market
8) mercantilist assumptions

9) liquid investment

10) management expertise

I11. Translate the following passages into Chinese (26%b):

1. Some believe that individually, with the help of enterprising local management or eager
multinational partners wanting to add new products to their stable, Chinese brands could
become a global phenomenon within a decade, marketed on quality and exotic appeal, as well
as competitive pricing.

2. New Economy skeptics have a more pessimistic view of the future because they have a
gloomier reading of the past. They say much of the equipment and software bought in the late
1990s went to waste. And they argue that recent downward revisions of historical GDP data
solidify their case that the profit and productivity surge of the period was not as strong as first
believed. When the history books are written, they say, the boom will turn out to have been
largely a bubble.

3. As world markets worry about tighter money in America, overheating in China and dearer
oil everywhere, Europe and Japan are, contrary to tradition, providing havens for optimists.
Japan’s economy, in particular, continues to beat expectations even as it raises them. Numbers
released on Tuesday May 18th showed that Japan’s output grew at an annual pace of 5.6% in
the first quarter of this year, its eighth straight quarter of growth. Even the money value of its
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output managed to rise by a healthy 3.2%, despite a continuing fall in prices.

The euro area’s rebound is less marked and less impressive. But the latest figures,
released last Friday, were still good enough to deny the euro-pessimists satisfaction. Euro-area
GDP grew at an annual pace of 2.4% in the first quarter, faster than at any time since the
beginning of 2001. France was looking positively sprightly: it grew by 3.2%.

IV. Translate the following sentences into English by using the given phrases (15%):

turn out peg leave off earmark gain ground
1.
2.
3.
4 20 50 60 35 1
4 1
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1%

V. Read the following passage and choose an appropriate sentence from the list (A-H) to
fill each of the gaps in the passage (14%0):

Learning by doing is familiar to every manager sent o a training course. Invariably this
involves role-play based on studies of long-ago triumphs and disasters, from a relevant
industry or organization. 1) The problem is, any experience of decision-making gained
from role-play has one obvious shortcoming: it is not real life.

To tackle this dilemma, some of the best-known companies have set up the International
Management Development Consortium, which provides a range of executive development
programs for staff members. 2) What this means is that they involve “action learning”
through real-life situations, and participants work as problem-solving consultants on projects
within companies engaged in day-to-day business.

3) Within this they also take training and refresher courses in traditional business skills
such as finance, marketing, staff management and strategic planning. These disciplines are
taught by a mix of academics, business people and senior managers from Consortium
companies who also monitor the consultancy work.

More than 100 of these consultancy projects have been undertaken so far, and many more are
to come. 4) Generally, those who choose to attend the course come from various
countries, reflecting the multi-national nature of companies within the Consortium. 5)

As a result of this cross-cultural exchange, the people on the course learn a great deal from
each other----and often keep in contact on a professional level long after the end of their
course.

The Consortium says language difficulties are not a problem when consultancies are
undertaken for foreign companies on site. A translator is on hand to deal with difficulties
which arise from technical terms of jargon. 6) This is because they are not charged
consultancy fees, although a nominal sum is payable for administration. The funding for the
scheme is provided by each Consortium member who contributes to the cost of running the
training course, and the amount involved is considerably less than fees charged by leading
business schools. 7) ‘It is”, says the Chairman, ‘a real learning experience with
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techniques that can easily be used back at work’.

A. They are being offered by companies who are aware of the benefits of the range of
knowledge offered by the people on the course.

B. As well as the savings, there are also the dividends it pays in the form of improved staff
performance.

C. The difference between these programs and the average executive course, however, is that
these courses are based on the concept of ‘live’ consultancy.

D. In this way, participants can also benchmark themselves against the best members from a
range of Consortium companies.

E. This means that within every training group there will be a wide variety of experience,
which is discussed and explored by the group.

F. Typically, groups of up to six course members undertake projects as part of this
development program.

G. Another major advantage is that these companies usually get their problems solved very
cheaply.

H. Managers are typically cast as key figures in these dramas, then comparisons are made
later between how they deal with the fictional situation and the actual event.

V1. Read the article and choose one best answer to each of the following multiple choice
questions according to the article ( 20%0):

That old Greenspan magic seems to be fading
By Larry Elliott
Monday May 10, 2004
From The Guardian

Fed chairman will have to tighten America’s belt sooner rather than later

For the best part of 20 years, Alan Greenspan has been a symbol of the stupidity of ageism
(discrimination based on age, especially prejudice against the elderly). He became chairman of
the US Federal Reserve at 61, when plenty of workers have already been tossed on the
scrapheap (a pile or heap of waste material) and many others are preparing to wind down for
retirement. His golden years in charge of the US economy were when he was pushing 70 and
he's still there aged 78. Greenspan is the doyen (a man who is the eldest or senior member of a




group) of central bankers, still talked about in almost reverential terms by his peers. The fact
that the Fed chairman rarely gives interviews and makes public pronouncements that are to
economics what Finnegans Wake is to literature only adds to the mystique.

It is, then, with some trepidation (an involuntary trembling or quivering) that the question has
to be asked: has Big Al finally lost the plot? At the start of last week, Greenspan presided over
a meeting of the Fed which kept interest rates on hold at 1%, the level they have been pegged
at for nearly a year. A statement accompanying the decision said the risks to inflation were
balanced, which means the Fed thinks there is as much chance of the cost of living going up as
going down. On Thursday, new joblessness claims in the US fell to their lowest level in getting
on for four years, and the picture of a recovering labour market was underlined by Friday's
non-farm payrolls which showed an increase of 288,000, above what had been expected. The
economy is expanding at an annual rate of 4.5%, surveys of both manufacturing and the
service sector are strong, the housing market is booming, inflation has started to pick up.

Hardly surprisingly, Greenspan's call on inflation is now coming under the microscope, even
by those on the Keynesian left who tend to favour expansionary macroeconomic policies.
"Show me something, other than computers, where the price is falling,” says Dean Baker of
the Centre for Economic Policy Research in Washington. Baker is right. Clearly, risks to
inflation are on the upside, and massively so. The economy has been injected with a cocktail
of three growth-inducing drugs - negative real interest rates, a rising budget deficit and a
falling currency. Oil prices have touched $40 a barrel and the labour market is tightening. It is
hard to believe that Greenspan, a junkie (an old and experienced person) for economic data no
matter how seemingly trivial, has not spotted all this. Rates in the US are far below a neutral
level, which would probably be around 5%, yet Greenspan is in no hurry to act.

Waiting game

Last Tuesday's Fed statement did suggest that, yes, perhaps there would come a time for a bit
of gradual monetary tightening but not just yet. The Bank of England has raised interest rates
three times since November in an attempt to ensure that it stays on top of events, but even after
Friday's strong employment data there were those predicting that Greenspan would wait until
August before tweaking interest rates rather than moving at the next meeting, in June.
Greenspan's argument appears to be that he wants to be sure that the recovery from the
relatively mild recession of 2001 is firmly entrenched, but the evidence could hardly be any
more conclusive. The risk is that the Fed is now a long way behind the curve, with all the
factors in place for another period of deep instability in prospect for the world's biggest
economy.

What then is Greenspan up to? There are really only three possible explanations. The first is
that he believes that 1% interest rates are appropriate at a time when fiscal prudence has been
thrown to the winds by George Bush's tax cuts and the extra spending needed for Iraq, when
commodity prices are hardening across the globe and when the US consumer is taking
advantage of cheap money to load up on debt. If that is the case, he really has lost it.




The second explanation is that Greenspan believes the US economic recovery is much less
robust than the public has been led to believe, and that withdrawing monetary stimulus could
bring the house of cards down. This is not a message much heard in the US (where the
predominant voice is that of Wall Street economists who have a vested interest is talking up
the stock market) but it is true that Greenspan solved the problems caused by the collapse of
the bubble in the stock market by creating two new bubbles - in the housing and bond markets.
Economist Kurt Richebédcher puts it this way: "The stock market bubble of the 1920s ended
with an unprecedented consumption boom, and just that has been happening again since 1997,
and in particular since 2001. Since then, consumer spending has accounted for 92% of GDP
growth. Yet, to keep it rising in the face of grossly lacking income growth, the Fed has
invented a policy stance that has no precedent in history: boosting home prices with artificially
low interest rates in order to provide rapidly growing collateral for consumer borrowing."

Richeb&cher's view is that Greenspan has papered over the "existing maladjustments from the
boom through even bigger, new bubbles and macroeconomic maladjustments, heralding much
worse to come in the future”.

What next?

The key question is what happens once policymakers try to wean the US off its growth drugs.
Unless Bush is prepared to push through new tax cuts - the ultimate dud cheque, given the size
of the budget deficit - the boost to consumers from higher take-home pay will fade. Raising
interest rates would pull the rug from under the housing market, while if the Fed's negligent
approach allows inflation to pick up over the coming months watch out for a crash in the bond
market. Even the tiniest threat of higher short-term rates spooked Wall Street last week: it's not
hard to imagine what some aggressive tightening would do, particularly if it looked as though
the Fed was struggling to catch up.

All that said, there is still enough momentum in the US economy to carry it along into next
year, by which time the presidential election will be over. This is the third possible explanation
for Greenspan's actions; that having been seen as a contributory factor in the downfall of one
member of the Bush family, he is making sure he doesn't fluff his lines second time around. If
this is the case, it doesn't say much for the independence of the Fed, and it will add to the
economic problems of whoever wins in November. It's a good bet that there will be a large
dollop of both monetary and fiscal belt-tightening in 2005, and Greenspan might be well
advised to bow out gracefully before the brown stuff attaches itself to the fan. As Gordon
Brown always says, there are only two types of finance minister: those who fail and those who
get out in time. The same applies to central bankers.

1. For the best part of 20 years, Alan Greenspan
A. has been regarded as a stupid man.

B. has been the doyen of central bankers.

C. has demonstrated his ability in spite of old age.
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D. has been a mysterious person.

2. The statement issued after the Fed meeting indicates that
A. inflation was just around the corner.

B. the cost of living was likely to go down.

C. there was a slim chance of deflation.

D. there was as much chance of inflation as deflation.

3. According to Dean Baker of the Centre for Economic Policy Research in Washington, Alan
Greenspan

A. was in a muddle.

B. has deliberately taken a wait-and-see attitude.

C. was unable to identify the risks to inflation.

D. was too old to realize that inflation was likely to occur.

4. Greenspan prefers not to adjust interest rates because

A. the Fed is now a long way behind the curve.

B. The Bank of England has raised interest rates three times since November.
C. he wants to wait until all the factors will have been in place.

D. he wants to make sure that American economy is fully recovered.

5. The author of this article believes that

A. Greenspan is a symbol of stupidity.

B. Greenspan’s decision is very sensible.

C. Greenspan might think that 1% interest rates are appropriate.

D. Greenspan is in no hurry to act because 1% interest rates are appropriate.

6. The second explanation for the Fed decision
A. is shared by most of Wall Street economists.
B. is not popular among Wall Street economists.
C. has no precedent in history.

D. is predominantly popular in the United State.

7. The rising consumer spending in the face of grossly lacking income growth

A. is bad because it has created bubbles in the housing and bond markets.

B. is reasonable because it has accounted for 92% of GDP growth.

C. is acceptable because it is necessary to boost home prices with artificially low interest rates.

D. is inevitable because problems caused by the collapse of the bubble in the stock market
wouldn’t be solved otherwise.

8. The author of this article believes that once policymakers try to wean the US off its growth
drugs,
A. a crash in the bond market is likely to occur.
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B. the Bush Administration has to push through new tax cuts.
C. the Bush Administration has to raise interest rates.
D. some aggressive tightening becomes essential.

9. The third possible explanation for Greenspan's actions is that

A. he wants to make sure that he won’t let Bush down in the presidential election.
B. he has contributed to the downfall of one member of the Bush family.

C. he wants to get out in time gracefully.

D. monetary and fiscal belt-tightening is a must in 2005.

10. Of all the three possible explanations, the third one seems to true because
A. Greenspan has been a symbol of the stupidity of ageism.

B. Greenspan is absolutely sure that he is about to step down.

C. Greenspan's actions seem to be politically motivated.

D. Greenspan doesn’t want to fail, and he wants to get out in time.
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